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I 7 mwn: virtually infinite my»ym
a  if he says: "oR7 IYWI P11 1IN, Or PIRD 79YI... OF DN M.
i ruling: he is a “continuous 7n” and shaves every 30 days
ii  dissent: 227 —this isn’t a “continuous 7'n” who shaves every 30 days, rather it is 0% 71 (shaving once a year)
1 rather: if he says “I accept a *oR7 9yw> mm etc.”, then it’s “continuous n”, shaving every 30 days
I ’n mwn: potentially infinite N1
a  if he says: n"an ®Yn 7m0 (as per the fullness of this empty house) or noypn ®on... (currently empty box)
i ruling: we check; if he intended a “large” m7°11 30 days; if he had not intentions, we imagine the house
(or box) to be filled with mustard seeds and he has infinite 30-day m»m
ii  question: why not view the house/box as filled with something larger (squash) and give him relief?
iii  Answerl (7prn): follows NYynw "1 (contra N> 1) who maintains that a person will make (and mean) a
declaration where the ambiguous implication is more stringent than a clear one:
1 Source: if a person undertakes M1 on condition that there is amount X in the granary and he
comes to find it stolen:
(@) pwow 7. valid mm
(b) AT 7 N0 MIN
iv  answer2 (panr *7): even N "1 would agree here — in that case, it’s unclear that he ever became a 71, in
our case, the only question is the amount of nm.
1 Question: (again) — why not consider it as filled with squash and allow relief?
2 Answer: 0 " holds like »27 (1:5) — such a 9T isn’t a series of consecutive n»y7'1, rather ooy n
(a) Challenge: (1:7) — i " related that a man who took a vow “nnnn mn’ 1ind”, when he finished - died
(i) Explanation: this is clearly a lengthy (365) series of 30-day nvy1m
(b) Challenge2: (xn>™1) — NI "7 says that if he takes a vow “as per the number of piles of figs left
out to dry or the number of sheaves during nv’nw — we count that number and he has that
amount of NN
(i) Answer: use of the word 11 makes the difference

(if) Challenge: »a71 doesn’t recognize the significance of the word 1’1n as per his ruling about
nnnn M PInd

(iii) Answer: N1V ") agrees with 717 that such a vow is generally viewed as one long mm, but
dissents re: the impact of the word pan
b Tangential X577 if he states “I am a 913 my whole life” or "p%y m” >10%y 1; if he states “a 100 years” or
even “1000 years” — this is not 0% 71, rather a life-long ny1n (without shaving every so often)
¢ Tangential xn»72. if he states “I am a 71 and one” 2 nyy1n; if he adds “and another” -3; “and again” >4
i Challenge: the last is obvious
ii  Answer: R"70 that 2391 (“and again”) means to double the entire series = 6; 5"np
d  Tangential 8n27: if he states 911 2377 and then defines it with a number in another language — as per that number
i 1n>1 (“one” in Greek); 177 (“2 sided”)>2; v (triangle)>3; pvv (quadrangle)>4; prona (pentagon)=>5
ii  tangent to the tangent: a house that is round or has 2, 3, 5 or 6 walls isn’t subject to nvan nyx —
1 however: a four-sided house (only) is subject, as per vv. 1-2 (2 times the plural mvp is mentioned)
I "y mwn: Using distance as a measure of m~1; if he says: “I am a 9’11 from here to point X”
a  ruling: if it is less than 30 days” walk to point X->30 days; if more, then that duration
IV 't mwn: using the calendar as a measure of m1: if he says: “I am a 711 as per the days of the solar year”,
a  ruling: he counts 365 nmm (supported by story related by nmn> ")
b dissent: (in Xn»11 above) — »17 says this is a 09 M, unless he states .13 M1 *HY M
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